
Acordesweb.com

Its Tough To Have A Crush
OK Go

This song only has three chords (atleast that I can tell).  It s pretty straight
forward.  The three chords it uses are:

    D  A  Gm
e|--5--5--3--
B|--7--5--3--
G|--7--6--3--
D|--7--7--5--
A|--5--7--5--
E|-----5--3--

The whole song repeats one pattern over and over which looks like this:
D A Gm A   x3
D Gm/A D D x1
Note: the Gm/A means half a bar of each chord.

That should be it, if you have any comments/questions/hate mail send it to
jonypawks
(at) gmail (dot) com.


